-

o ZILLA

Instructions Yamaha RMAX Glass Windshield

HARDWARE LIST

4 - Universal Billet Clamp 2.0”
4 - Bolt %4-20 x 2.5”

4 — Flat Washer 1/4”

4 — Lock Washer

8 —Bolt 10/24 x 1/2”

8 — Lock Nut 10/24

1 — Right Handle Assembly

1 — Left Handle Assembly

STEP ONE - Using the Handle
Assembly bolt the Flap Mount on
the inside of the polycarbonate
as seen in the picture using 2
10-24 bolts and lock nuts. Tight-
en bolts. Mount the bracket with
threaded insert on the right two
holes of bottom brace using the
other two 10-24 bolts and nuts.

STEP TWO - Place the billet
clamps on the frame with the
clamp orientation shown in the

TOOL LIST

Hex tool 1/8” (Handle Assembly)
Hex tool 5/32” (clamp bolts)

2.5" Bolt

e

Wrench 3/8” (Handle Assembly)

O m—(e

Flat Washer

Torx T27 Tool (RMAX Roof) N\ Lock Washer
——
) =

picture. The flat face of the clamp should face forward and the clamp opening pointed towards the
center of the machine. Use a 2.5” bolt with a lock washer and a flat washer to secure windshield to
clamps. Adjust windshield to desired location and then tighten all the bolts. Do not over-tighten the
bolts causing the frame to distort it could cause the glass to break during a ride.

scan the QR code for the RMAX
Glass Windshield Installation video.



